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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2022 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY–II 

Time : 3 Hours     Maximum Marks : 75 

Note : Question No. 1 is compulsory. Attempt any 

six questions from Question Nos. 2 to 8. 

Draw well labelled diagrams wherever 

necessary. 

1. (a) Define any four of the following : 1×4=4 

(i) Intelligence 

(ii) Marsupial 

(iii) Rodent 

(iv) Echolocation 

(v) Bioluminescence 
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(b) Differentiate between any four of the 

following : 2×4=8 

(i) Agnatha and Other fishes 

(ii) External gills and Internal gills 

(iii) Amphibian heart and Mammalian 

heart 

(iv) Procoelous and amphicoelous 

vertebrae 

(v) Gliding and Soaring flight 

(c) Give the order to which the following 

mammals belong (attempt any three) : 

1×3=3 

(i) Sorex (shrew) 

(ii) Bat 

(iii) Dasypus (Armadillo) 

(iv) Oryctolagus (Rabbit) 

2. (i) Describe adaptive features and affinities of 

urochordates and cephalochordates. 5 

(ii) Describe the general characters and 

classification of subclass Elasmobranchii. 5   

3. (i) Explain different modes of feeding and 

describe digestion in birds. 5 

(ii) Describe dentition which has been used in 

classifying placental mammals with 

reference to adaptive radiation and feeding 

habits.  5 
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4. Describe the specialized derivatives of 

integuments in vertebrates. 10  

5. (i) Differentiate between monogastric 

stomach and digastric stomach of 

mammals. 4 

(ii) Explain the embryonic origin of gonads in 

vertebrates. 6    

6. (i) Discuss the olfactory organs of vertebrates.  

5 

(ii) Explain the structure and function of 

thyroid gland. 5  

7. (i) Discuss the ecological basis of behaviour. 5 

(ii) Discuss the structure of social organization 

in primates. 5 

8. Write short notes in about 500 words on any 

two of the following : 2×5=10 

(i) Signal marks and recognition marks 

(ii) Scansorial locomotion 

(iii) Brain of jawed vestebrates 

(iv) Phylogeny and succession of chordate 

kidney 
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1×4=4 

(i)

(ii)

(iii)  

(iv)

(v)
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2×4=8

 (i)

(ii)   

(iii) 

(iv)

 (v)

1×3=3

 (i)

(ii)

(iii)  

(iv)

(i)

(ii)
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(i)

(ii)
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(i)

(ii)

(i)

(ii)

(i)
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(ii)

2×5=10

(i)

(ii)

(iii)  

(iv)
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